
Task 5: Default risk in international financial 

operations 

 

A bank has to decide on the financial and economic situation of two different companies by looking 

to their financial statements (balance sheet and income statement). Imagine a rating system of 

indicators for assessing default risk (see the example at the end of the task) and by taking into 

consideration the financial ratios commonly used in this case. 

For more details about Financial Ratios we recommend: 

http://www.accountingcoach.com/financial-ratios/explanation 

https://www3.nd.edu/~mgrecon/simulations/micromaticweb/financialratios.html 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

http://www.accountingcoach.com/financial-ratios/explanation
https://www3.nd.edu/~mgrecon/simulations/micromaticweb/financialratios.html


COMPANY A (Balance sheet and income statement): 

Consolidated Income Statement Company A: 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Consolidated Balance Sheet Company A: 

 

 

 

 

 

 

 

 

 



Company B (Consolidated Balance Sheet and Income Statement): 

Income Statement Company B: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Balance Sheet Company B: 

 

 

 



Default risk rating model (example): 

INDICATOR FORMULA POOR  ACCEPTABLE INTERMEDIATE GOOD VERY GOOD 

Current liquidity 
 
 

Current assets 
Cl< 0,7 1p 0,7≤Cl<1 4p 1≤Cl<1,3 7p 1,3≤Cl<1,6 9p 1,6<Cl 10p 

Current liabilities 

Debts service ratio 
Gross profit + depreciation 

0,00 – 0,49 1p 0,50 – 0,99 4p 1,00 – 1,49 7p 1,50 – 1,99 9p 2,00 – …   10p 
Instalment + due interest 

Solvency 
Own capital*100 

S<9 1p 9≤S<14 4p 14≤S<20 7p 20≤S<26 9p 26<S 10p Total liabilities 

Profitability 
Net profit*100 

Negative value 0p Up to 5% 5p Over 5% 10p Turnover 

Speed of turnover 

 
 
 

Stocks*n 

DISTRIBUTION COMMERCE AND SERVICES 

Over 181 days  2p 151 – 180 days 6p 121 – 150 days 10p 91 – 120 days 13p Up to 90 days 15p 

Turnover 
 
 
 

INDUSTRY AND AGRICULTURE 

Over 281 days 2p 241 – 280 days 6p 181 – 240 days 10p 121 – 180 days 13p Up to 120 days 15p 

Clients period collection Receivables*n 

DISTRIBUTION COMMERCE AND SERVICES 

Over 181 days 1p 151 – 180 days 4p 121 – 150 days 7p 91 – 120 days 9p Up to 90 days 10p 

Turnover INDUSTRY AND AGRICULTURE 

Over 281 days 1p 241 – 280 days 4p 181 – 240 days 7p 121 – 180 days 9p Up to 120 days 10p 

Profitability ratio 
Operating profit*100 

1 – 4,9% 3p Between 5 – 9,9% 7p More or equal with 10% 10p 
Turnover 

Trend of turnover Turnover 1-Turnover 0  Decreasing 0 
Decreasing in 

comparison with 
last 6 months 

3 Constant 7 Increasing 10  
Turnover 0 

 


